
Kimit at a

finna fix, =L
¥¥÷.



lime tint = § hfhhatf this means is
too

X

T farting
→ f-(0-0001)=1

( D - Khoy 711517=1

at o the function the guff'ouis§how close
is not defined approximately
-
How close is fcx¥Iwe measure by

e - O (szeged)

wewaatlfcxs-HSEYHI.hedoofyt.IT?
distance from Byrctcootiugxclosebo .
twitter'm EEF
saying f-Mkt achieve- Itch- II CE ?



this is what→

the limit definition asks ! a

t.im. Exists. cseimaneg.si/If:.*=.* a fax , figg lsingnxl =L
How close you

have to get to 2
I sign 01=0

This turns out to
be just soaring of tax -D-51

- e fork-4
-

I@ x - D-51=13 x
- 61=13 Cx -23£ simplify and hope

=3 Ix - Pg z,←ace
for the test .

is : 1×-21<13



Definition Let •
,
Bo EIR and 1B ELR .

A function Aff :D -012 has
the limit L as

× approaches a if
the following two

conditions are

satisfied :

② I do>o such that Ca - So
,
a) Uca,atdo)EED .

(E) HE > O 7$ (e) such
Ihatosdceso

and

e@pzffcx7-hfcEos1x-aK8k7haueto_prooeXDOwedE.m
.'T*FEE¥i÷y÷lD0MA*Ito learn MATH



figg x
'

-4 Prove it ?

Green stuff : a-2,6=4 , fcxs=x2 , D=HI
G) 80=1 Since clearly ( t , 2) UG, 3)

ELR
.

We can restrict our thinking
to X EG,2) UG,3)

( this is the spirit of ④(
our thinking ) 1×-2121
tabby

OL

CI) - for Ix-4solve: Ix
'-4k E
-

¥74 -← x2s4tE



i÷i÷÷÷÷÷÷÷÷:: i
.

Do Pizza
- Party

.¥. ¥na¥¥¥¥3⇒EEIE
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